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w Do NOT use a calculator!
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Nice and easy

60

~ 10

X 8

+ 2

Half it

-7

+3

X 9

+ 2

~7

Answer =

0
g4 Challenging
100 50
+ 10 3/10 of it
X6 400 % of this
6 less than this Double it
5/9 of this -12
half of it 1/9 of it
X5 multiply it by itself
6 more 25 % of this
+9 1 12 times this
X7 5/6 of this
Answer = Answer =

2,
‘



Nice and easy

60

60 +-10=6

6x8 =48

48 + 2 =50

50 = 2 = 25

25-7=18

18+3=6

100

100 = 10 =10

10x 6 =60

60 — 6 = 54

(5/9) x54 = 30

30 + 2 =15

6x9=54

15X5=75

54 +2 =56

75 + 6 = 81

56 +7=8

81+9=9

Answer = 8

9x7=063

Answer = 63

Challenging

50

(3/10) x50 =15

400% =4 X 15 =
60

60 + 60 =120

120 — 12 = 108

108 + 9 =12

12 X 12 = 144

144 , 4 = 36

1.5X 36 =54

(5/6) X 54 = 45

Answer = 45




